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Suppose a company has estimated that the cost, in dollars, of producing ¢ items

per week is C(g) = 3000 + 13g — 0.01¢> + 0.000003¢°.
(a) What are the fixed costs?
(b)

Find a function for the average cost of each unit produced. What
age cost when 1500 items are produced?

(c)
are produced?

(d) What is the actual cost of the 1501st item?

Clso) - C(15c0) & $0,126.2525 - ¥ 10, 11§

Find the marginal cost function. What is the marginal cost when 1500 units
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12. Water purification If C(v) is the cost, in dollars,
of purifying v gallons of drinking water, and
C’'(200,000) = 0.26, estimate the cost of purifying an

additional 3000 gallons of water once 200,000 gallons

have been processed.
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16. Appliance production A manufacturer’s weekly
cost, in dollars, for producing g lamps is

C(g) = 810 + 3g + 0.002¢>

Find the number of lamps that should be produced in
order to minimize the average cost.
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to maximize profit, production should be increased to the point

at which marginal revenue and marginal cost are equal

Dollars
R(q)
40,000 1
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20. Food production A food maker estimates that the
monthly cost, in dollars, for producing b boxes of its
breakfast cereal is

] !
C(b) = 1200 + 0.95 + 0.00025° C [6\ = 6\
The revenue, in dollars, the company earns from selling
b boxes of the cereal is given by

R(b) = 2.8b — 0.0001h> 1+ 0004 b 1.6 - .cooz b
AT 006b = 1.9

(a) Write equations for the average revenue and mar-
ginal revenue functions. \) ~ lb ?’ POXES .
(b) Find the number of boxes of cereal that the

company should produce monthly in order to

maximize profit.
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A Demand Function and Maximizing Profit
A company has cost and demand functions
C(g) = 84 + 1.26g — 0.01¢* + 0.000074° and D(g) = 3.5 — 0.01q

(a) If the price of each unit is $1.20, how many units will be sold?

(b) Determine the production level that will maximize profit for the company.
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